
 

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
• Up to Date products, reliable and verified. 
• Questions and Answers in PDF Format. 

 
Full Version Features: 
 

• 90 Days Free Updates 
• 30 Days Money Back Guarantee 
• Instant Download Once Purchased 
• 24 Hours Live Chat Support 

 
 
 
For More Information: 
https://www.testsexpert.com/ 

 
 

 
• Product Version 

 

Construction and Industry
EEI-TECH

EEI Technician Occupations Selection System Exam

Visit us at https://www.testsexpert.com/eei-tech/

https://www.testsexpert.com/eei-tech/


 

Latest Version: 6.0  
 

Question: 1 
   
 

 

Answer: A 
Explanation: 
In rollers, adjacent rollers spin in opposite directions. Thus, roller 2 spins counter-clockwise. 
Finally, roller 3 spins in a clockwise direction. 

Question: 2 

 

Answer: A 
Explanation: 
Because the truck is heavier, the car will not be able to stop the truck. Thus, they will move to the left. 

Question: 3 
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Answer: A 
Explanation: 
The same amount of air entering the funnel has to exit. The air in funnel A has to exit faster to allow for 
the great amount of moving air. 

Question: 4 

 

Answer: B 
Explanation: 
The friction acting on the brick on ice will be less than the friction on the other brick. Thus, the brick on 
ice will require less force to push. 

Question: 5 
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Answer: A 
Explanation: 
Decreasing the volume of space for a set amount of gas increases the pressure inside. 

Question: 6 

 

Answer: C 
Explanation: 
When two cogs mesh, the cog with the least number of teeth spins faster. Thus, cog B spins faster than 
cog  
A. Cog C spins faster than cog B. 

Question: 7 
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Answer: A     
 
Explanation: 
Pushing at A provides a greater moment around the tipping point. Thus, pushing at A allows for the least 
amount of force. 

Question: 8 
   

 

Answer: C 
Explanation: 
At point C all of the energy (potential energy) has been converted kinetic energy. 

Question: 9 
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Answer: C 
Explanation: 
Because the weight on the right is twice the weight of the other, the center of the see-saw needs to be 
closer to it. 

Question: 10 

 

Answer: C 
Explanation: 
Switching the switch will stop the flow of electricity through light C which is required for the light to be 
on. 

Question: 11 
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Answer: B 
Explanation: 
The strong man should be closest to the heavy weight. 

Question: 12 

 

Answer: A 
Explanation: 
Large wheels have a greater linear velocity on the outside than the linear velocity of small wheels. 
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